<FEFELDH>

1. ERHIZRALERIIETT M. (58
1. AR TERDEBICHARIH2E (HEH)
ULDOBEMISHLTRER (EHEER) DZVEOMNLIRICTRL =,

<HEfE>

C EREXERER/DIH 64.0%
H BEEKIENTESDDDL 33 1%
G HZ-FABD=5H 25. 2%
B EMENEDITH=H 22. 3%
<#HEBE>

B EMZENEDITHILE 73. 7%
C BREXERERFLHL 68. 4%
F =M Z5ICDT5HZE 63. 2%
A —fEHEBEEEICZDTBHIE  52. 6%

[E= AE Bz | =
9 S 4E ARIZAZLTEADEERS 92.7 91.9
E2g=| RIS DERICESTHNDHAEBTHD 90.0 89.5
ERE ERDBERVTNARENZ 95.6 95.6
#He EHDEEBCEISBALTLIHENE W 100.0 100.0
4 S 4E BEICODVWTIXRELTLWEEENASZL 83.2 87.6
E2 4= BEICOVTIXELTLWIHRENSL 100.0 94.1
5 EXra BAESEMICDOLNTHETE S 91.2 88.4
E2d=] FHEICDOWCTERICTEICIRERBEL TLLIHENE L 88.9 82.4 |
5 EXra EREICHLAFICELTLIEENS L 83.1 84.6
B = RIS LAFEICELTLDHEENS L 100.0 100.0
7 X3 ARICITBELNDEEICLTBRICHHETEIBESHNHD 88.3 88.3
HE ARICITERE - REBVRBICHBTEZLIFETLHD 100.0 100.0
8 H1E FREFITONT, AROEREEIMETES 93.4 89.0
E2d=] AROEEREFTETHETELLDTHD 95.0 84.2 |
9 H4E EREEICOWT, AREFEHHOMIEFELTWLS 92.6 85.2
E2d=] ARDEREETEOHONCEFEDEEZER TS 89.5 100.0
4 H4E BHOBEFALT. FNANFITOVTETLD 824 81.0
#He £, BAOREFBEL T, FNEFITOFTETLD 73.7 79.0
4 S 4E EREFEFBLT. HLEIOHEDRENFICODLTETLD 83.1 88.3
B = R, BREFTEBLT, HLESOHREDRBEZICOHTETLD 75.0 89.5
<EHHER>

SO EREEEREBDI-O IN. BEEEDT77. 4% M564. 0%EFDLTIND, F1=
[EZ BN 1A%, 34. 3%M525. 2%EFSLTLVS,
HEDEREREBBIZEINEEEDAL0. 0%MN5H68. 4%ER=IEMLTLNS, -,

HEMEFIZDITHRIEIN. EEEDSS. 0%MH63. 2%EFA LTINS,



	HP1
	Sheet1
	Sheet2
	HP2

